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Question1 (4 points)
If W is the wrapping function, then find W(—S?ﬁ).

W(—S—ﬂ) = cos(—s—ﬂ),sin(—s—ﬂ) = (cos(—300°),sin(—300°)) = (cos 60°,sin 60°) = l,ﬁ
3 3 3 22
Question2 (3 points)
Write tanf¢ interms of cost ,7 <t <377[.
tant:LnZ, butsin®z+cos’f=1=>sint =+ l—coszt, but z <t <37”:>sint:—\/1—cos2t
cos

—V1=cos? ¢t

Stanf=————
cost

Question3

Let f(x)=acosbx with period =8 and f(4)=3.

a) Find the values of aandb . (2 points)
b) Find the range of f(x). (2 points)
Solution
2 V4 V4
a) P="_=8=pl=="=b=1=
b] 4 4

s f(¥)=a cos(i%x) = a cos(% X)

f@A)=3=acosz=3=>-a=3=a=-3
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d|]=[-33]

b) R=[-




Question4

For the function f(x)=-2 tan% ,

a) Find the amplitude.
b) Find f(-x).

¢) Find the equation of all vertical asymptotes over the interval [- 37,37 |.

d) Find the x —intercepts (the zeros) over the interval [- 37,37 |.

a) Noamplitude

b) f(-7) = -2tan(%) - 2tan(2T7[) = 2tan120° = —2tan 60° = 23

c)cos£:0:>—
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n:0:>x=3—7[
4
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n=l=x=—
4
RY/4
n=—-l=x=——
4
n:—2:>x:—9—ﬂ
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S V. A are: x = J_r%[andx
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m,nisinteger = x = 7
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d) s1n?=0:>?=n7z,nlslnteger:>x:T,msmteger

n=0=x=0

kY4
n=1=>x=—

n=2=x=3x
RY/4
n=-1=>x=—-——
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n=-2=x=-3x7

.. x —intercepts are :(0,0),(i%[,O) and (£37,0)

( 1 point)
( 2 points)
( 3 points)
( 3 points)



